How to use SNMP to check the error port (TX Frame)

Example on DGS-3600
CLI Example- for TX Frames:

DGS-3A650: admin#show error ports 1
ommand: show error ports 1

Fort number : 1
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The following is MIB for tx error counter in
iso(1).org(3).dod(6).internet(1).mgmt(2).mib-2(1).transmission(10).dot3(7).dot3StatsTable(2).
EtherLike-MIB:

W EtherLiksMIB |

=5 MIE Tree

=43 iso

=3P dot3StatsEnty
& dot3Statzindes
& dot3StatsdlignmentErors
o dot35tatsFCSEmors
& dot3StatsSingleCollisionFrames
& dot3StatsMultipleCaollizsionFrames
& dot3StatsSOETestEnars
' dot3StatsDefernredT ransmissions
@ dot35StatsLateCollisions
@ dot3StatsE roessiveCollizions
& dot3Statsinternaltd ac TransmitE rrors
W dot3StatsCarmierSenszek mars
' dot3StatsFrameT oolongs
& dot3Statsinternald acReceiveE mors
4 dot3StatzEtherChipSet
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1. Excessive Deferral:

Ohiect narne dot3statsDeferredTransmissions

Ohject ID 1.361.21107.21.7

Module EtherLike-MIB

Base syntax Counter

Cornposed syntax Counter

ACCess Read-Orly

Status Manclatory

Parent node dot3StatsEntry

First child MNone

Description & count of frames for which the first
transmission attempt on a particular interface
is delayed because the mediumm is busy,
The count represented by an instance of this
object does not include frames involved in
collisions.

SNMP Command:

# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.10.7.2.1.7.1 (1=port 1)



2. CRC Error:

SNMP Command:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.10.7.2.1.2.1 (1=port 1)

3. Late Collision:

SNMP Command:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.10.7.2.1.8.1 (1=port 1)



4. Excessive Collision:

SNMP Command:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.10.7.2.1.9.1 (1=port 1)

5. Single Collision:

SNMP Command:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.10.7.2.1.4.1 (1=port 1)



6. Collision:

SNMP Command:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.10.7.2.1.5.1 (1=port 1)



